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Test Information

Description
Instructions

Timed Test This test has a time limit of 45 minutes.This test will save and submit automatically
when the time expires.
Warnings appear when half the time, 5 minutes, 1 minute, and 30 seconds remain.
[The timer does not appear when previewing this test]
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Completion continue to run if you leave the test.

QUESTION 1 1 points  Save Answer

fAT = { g _; } and p(x) =x2—x+3, then p(A) equals

[0 3}
-1 2
[ 1 6}
12 0

[3 2]
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QUESTION 2 1 points  Save Answer

IfA = T2 and B = -6 , then the trace tr(5A-
2 =4 31

BA) equals
120

QUESTION 3 1 points  Save Answer

Question Completion Status:

A= -2 -1
| -2 4
A= -2 =2
-1 4
A= 4 =2
-1 —2]
A= 4 -1
L —2 -2
QUESTION 4 1 points  Save Answer

If Ais an invertible nxn matrix, then
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The reduced row echelon form of A has a row of zeros

QUESTION 5 1 points  Save Answer

If A, B and C are nxn matrices, then &4C — (CTB:IT equals
(a-B)C’
(a-8"C
(ac-Bc)

ca-8")

Question Completion Status:
IT TNE eNtries on tne main aiagonar or a 3X3 dragonal matrix A
. . . -2
are 2, 1 and 4, then the entries on the main diagonal of 4

are

-4, -2 and -8

%, % and 1/16

Y, 1and 1/16

4,1and 16

QUESTION 7 1 points  Save Answer
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QUESTION 8 1 points  Save Answer

Suppose that A is a matrix of size 5x2, B is a matrix of
size rxs and C is a matrix of size 4x3. If ATBC is defined,

then

—_— . n.ﬂan‘_\. - -

Question Completion Status:

B is of size 2x5
B is of size 3x4

B is of size 3x5

QUESTION 9 1 points Save Answer

The general solution of the homogeneous linear system

x+y=0
—2x+z=0
2v+z=0
is

{2, —t, 1), tER}
{t, —t,2t), tE R}

It + 1 e
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QUESTION 10 1 points  Save Answer

The solution of the linear system with corresponding
3 2

augmented matrix
-2 2 4

a point
aline
aplane

two points
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